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i 4x4=16
1. Translate the following passages :

O SR (PR A T

(@) %WWWIWW%WMHH?W:

@)

(c)

B13-SK

W W= ORI %ﬂﬁqﬂmﬁqaaa’rﬁmuﬁgmmsﬁm—amm
T et wremfi |

Or/ 9y

T AN BUIpeeTalla AU T STeifE: | o @I HdIsta sgEEr Wi
mmwmaw|mmwm T I YA |

e T A yRRe W Ry |
TELEHEH S FaTT AR I
Or/ 99

Or/ 93t

wmwmmﬁ:mﬁwmwmﬁm TG e |
WﬁWWMW&ﬁ@WﬁT%WﬂI @ W FEY - e T
e |



M

(d) TEEfEAIHAM, YEaTgh T HTEl e |
TR gERE 39 AR |
Or/ a1
e AEag| 98 N 47 | T8 94 Fads |
TR | W fafguEe |

2. Explain the following verses with reference to the context :

27 A (TR OeTS THal (I (PR IR 34
(@) 1 THYS il o TeHed HeE: |
g wiel = wihye AY fawgey e o
Or/ 9%
TRITYE a9 Ugh H Td TI=s WO ge |
IEE, HIHE HAAG deeH s |
(b) T v IiEsd HET 9 que: |
TR T W& G T quta e
Or/ St
ETes SgAMed TRy & g e
q e W A TEEr vl

3. Expand the idea of the following :
weTe fiEl (@iee o 9ges o
(@) W= @d e fafeata@mm: |
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Or/ A
TaRyAfE vrefafed TEE AR |

(b) vmmm gy gHEreE |
Or/ 91

fed TFRI 9 oy 99 |

4. Answer the following questions : ' 4x3=12

O YRR Gl T

(@) Write a note on the Ts9a= |

AYregd e it Gt fof |

(b)) What do you mean by ‘GCqRdl' ?

Write the names of any three great poets mentioned in the lesson.

RO S [ @ 2 Are Srard =1 7 e fofem i e i
(c) Answer the following questions in Sanskrit :

o 2P0 OeT IFOS ol -

(F) da-eencas fagam fem s ?

(@) INE YR h fqamey Famron e ?

() TS I AW o Helfdd: ?

(9) T =9 quor eRteeH STfeay ?

BI3-SK 4



5. (a) Answer the following :

O 2R O el
(i) How does the mind of the great remain at the time of adversity ? 2

et 2R IR TR (e SRS AT 2

(i) T fo=ed 9 & sgFweiq ?
What did the lion consider and whom did he invite ? 2+1=3

Fiez & Reaem sk o a5 agm [ R ¢

(i) o= WU afq ____ e
Fill in the blank in the statement. 2

JFAIRT QA 9B o7 |

(iv) Taasg ¥R =9 9= fg arffman)
Write the meaning of the statement clearly. 2

TaifEE W A foyalf |

(v) HIAOGRE HEERIEA |
Elucidate the idea of the statement. 2

ITaiRT o 7== ol

o

(vi) Name two Ankiya dramas written by Shrimanta Shankaradeva.
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(®)
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(i)

(i)

(iit)

(iv)

v)

vi)

Give one Sanskrit equivalent of the term 'I9g’|

‘@Y ¥ ARFS e @it |

Who is the author of T&daew ?

Bretetmm ager @i 2

The S9fUEs are known as

Goffraw S e & @) A 1R sjaet 7=

9 was the king the city of T / 8RT / LT

Select the correct word.

uE =00l g Sfenest |

Whom do you mean by ‘Siomgf’ ?
QI Iferet - & 2

Td was the son of =IsedT |

Say ‘yes’ ori ‘no’.

OIS (TN 2T WifRe | T w2y @@ |

Account for case-ending in any two of the following :

T in Q. No. 1 (@) [ 1 R (a) 219 ]

Bl in Q. No. 1 (¢) [ 1 7 (c) 2w ]

|2 in Q. No. 1 (@) [ 1 71 (d) 2w ]

T in Q. No. 2 (@) or [ 2 7 (a) 9 2@ ]

also. Fill in the gap.



(b) Derive any nw} of the following : 2x2=4
R Rpeal 7o1F oo [efa i
fae: in Q. No. 1 (@) [ 1 72 (a) &% ]
TqF in Q. No. 1 (@) or [ 1 T (a) &% 2%© ]
¥ in Q. No. 1 (¢) or [ 1 T (c) T3 &% ]

SHl in Q. No. 1 (@) or [ 1 R (a) &R<1 &9 |

7. (a) Decline any two of the following : 1/4x2=3
@%ﬁ Ricprcan qo19 =@ foralf
AME in ! plural [ FETR IR0 ]
T in WE duel [TDR BHo ]
Y in =gl singular [ 59T GFIETS |

WHN in WO singular [ IDR GIFIETO ]

(&) Conjugate any two of the following : | 14x2=3
ST Rl 7o arewet T ;
Vg in W f& (@ fefes &)
V¥ in G w0 (5 Refew )
VI in @ g (e Refew 1)
V¥ in 9 T (1 Refem g)
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(¢) Change the voice of any tweo of the following : s 2x2=4 .
OS] RTPIC {51 M) ARTSA bk
() T WA gEEr |
(ii) TH G&H YSUd |
(iii) T TeStT AT ?
(iv) 3% e gy
(d) -Name and expound any one of the following compounds : . 2

IR 1R o1 Rrerear 613 woiea J &4

wfafeT, FrEfT:, e |
(e) Define and illustrate &0 &R | | | 2+1=3
TAIZITR B PRI o7l il
Or/ 31
Give examples of any fwo of the following in suitable sentences : - 1%ax2=3
TR AF© O RTPICAT 7H1F Tnraet gl

.

(i) HETEAREaEan g |

(i) ATgTaRR: |

B13-SK 8



(iii) =IgA T |

(iv) ST T |

Give the resultant forms of any two of the following :

o ATt G5 e <t ol -
@) N o wE
i) N g + forg + @
(i) N+ T + @ fal

(v) V8 + & + W fal

Translate into Sanskrit any four of the following sentences :

o RTPICAT BIRGA TPl S 3R -

(@)

India is our motherland.

Sl S APSH |

(b) 1 see an clephant on the road.

I3 35® <5l TS MR |

(c) Sanskrit is a very sweet language.

B13-SK

A b1 OIS E S|

1%2=2

2V5x4=10

Contd.



(d) Sita went to forest with Rama.

IR 970 Aol qEce ColRe |

(e} Where are you going now ?

ol STl ST (oRl 2

(/) The sky is covered with clouds.

SR GRE FEE Stz |
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2013

Full Marks : 100

Pass Marks : 30

: Three hours

[ For unsuccessful HSLC Private Candidates of 2012 and earlier |

The figures in the margin indicate full marks for the questions.

1. Translate the following passages : | 5%x4=20

o SR S A

Tegal WA ViHE o HISEHeR: wfheERend THITEnT: YAre: | HISE
foemeeg ¥q; ? USfay whHf See Tl e |

(b) mﬁmﬁ@m&@ﬁﬁmﬁmﬁﬁwmmmﬁrgﬁu
mmmmwﬁa@mﬁmqm
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Or/ q371

TEvH S — o1 FREE: gou, Rl wed | T woemEey e 7 wiiha |
T T — dfe T A AR 91 7 TEiaed o fgue 99 g TR Sad — Sield
Fsfods e m = TE |

(c) == arediay faudy s g wH walfe o | sfmuer mikaTeaTi
I SigT Seyaia | foRmae T eauTsTe o |

Or / 9R<1

% q JEEEEE URE (o SR | 9T T — §eeT shede
T QU | TeTHE U (eI egead | Aaud gg e foRroma s mis |

() YR F @ faenea A
TRy fasfagar fami< e |

et g7 gfy ufse=mr
YRSEHRESHl 1 GRSl

Or/ G971
R i | EiEsvee R e A G E s |
A T QG A B T g el

2. Explain the following verses with reference to the context : 7x2=14

27 T GrEd TN G IR [

(@) FTATEEE O G R
A& WG @ Aressiig wel Sl

B13-SK 12



Or/ 99491

o qageeavy o= |
o : -
sieden graftemrgHEA
(b) T T TR Tl
e | e SERaEey wad
Or/ qYq7

ST ShasaHae fg agad: |

qSegguEYT Teedd favua: |

3.  Expand the idea contained in any fwo of the following : 5%2=10

o1 R 7o19 ©IF 42=12 T -
(@) T WEEEl W el HHER |

Or / G

YA BEl AR g

(b) &R TG SO e SrRE o

Or/ 941

Toomfa: wed feh AT gEm

Downloaded from JobAssam.in
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4. Answer the following: 5%x3=15.
T SIFR0R Bed o7l

(a) #\ﬁ?ﬁ?ﬁﬂ%'ﬂﬂﬁ%ﬂwﬂ
I TS Ak 1 yal 4 wiaeAfd

- Who said so ? Why did the speaker say so ? Explain.
GF (I (IR 2 A2 @3 59 (Fime, i 14 |
Or/ 991

Elucidate the idea contained in the following statement :

wol AT I ©[D IZE2 o4 -

gt s @ foamer g afad

(b) mmgﬁmﬂ?l

What do you mean by the term 'gieais ' here ? Mention the Sig9reh’ with reference
to the wealth of a miserly person.

O FRAR I T I@a0T 2 F2NR 2 407 (A GRART Oie,  Trad 4|
Or/ 9911

Fill in the gaps in the following verse :
Ood Gl e 77 I

FUURT _ . IO S |
&9 = T BT I

B13-SK 14



(c)

B i} Spey ceoxian .
5. Answer the { stions as dir
!

Write what is said by Amarcsha (3T93T) about his aim in life.

SEE (997 Giang Srd A & ' &l

Or/ 97
HEYE, T UREHAS JUeheHgHe: Hiehl S |
Who says so ? How does the speaker explain his aim in life ?

LERC @imt‘q?ca?'wﬁ (94T GIaag Ol (@vE T FR0E 2

e —
- A
>clec
ey P
-"..I.d'—
|

(b)

(d)

B13-SK

‘o ol SR ety
o :.L
Who said so ? To whom was

: 1+1=2
ﬁfﬂﬁ (
What ¢ 1
ARG T 7 @&l 2
foaTe Hewe HavTEfayIig |

In which of your lessons does this statement occur ? Who is addressed as ' T9amg’
here ? 2

T TR (ST FIFL0I Si5e S ?W‘mq‘aﬁwﬂmmwm?

How many U&Uls are there in the HEIYWRT ? 1

TEeRee (@26 4 Sg ?
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6. (a) Account for case-endings in any two of the following : 114%x2=3
R/ Rrical {hIF kS [efe e 3=
A= in Q. No. 1 (@) [ 1 M (@) 24< ]
FEiteg in Q. No. 1 (b)) [ 1 T (b) @%@ |
faw@g in Q. No. 1 (¢) [ 1 ¥ (¢) 2% ]

ferst9@ in Q. No. 1 (@) [ 1 & (d) 2% ]

(b) Derive any two of the following : 1:9=0
o) TP 7T el fdfa ==
W in Q. No. 1 (&) [ 17 (b) 2 |
Terdeay in Q. No. 1 (B) [ 1 78 (b) &3 2 ]
YA in Q. No. 1 (@) [ 1 ™ (d) 2% ]

Bgq in Q. No. 3 (@) or [ 1 R 3(a) T3 &% |

(c) Name and cxpound any two of the following : 1%4x2=3
o Rt 7517 JEREPR TaeE = fae
gfHer in Q. No. 1 &) [ 1 R (B) 2%S ]
¥erd: in Q. No. 1 (b) Or [ 1 7R (b) W37 2xfe |
IFAYATE™: in Q. No. 2 (@) [ 2 ™R (a) 2@ ]
g5 in Q. No. 4 (@) [ 4 T (@) 2%% ]

B13-SK 16



(d)

(®)

B13-SK

Change the voice of any one of the following :

oW Rrear qoig s AR =

(i) TogEl SEtgElen: |

(i) T WIS e | s |

Decline any two of the following : -
worq [RATPIcar o1 =t o«

gt in 3 plural [ @SR I |
37EAq in oI singular [ AT GFHC |
4y in €81 plural [ TV 327670 ]

fag¥ in 397 singular [ PORR GI=HAT

Conjugate any two of the following :

@ RiTical 7519 aiewel foral

1/2%x2=3

1/2%x2=3

\ #1g_in fafiferg third person singular (fafufeag Refes 2= 773 GFHF© )

V3t in @ third person plural ( T RefE= 84w 5737 I209 )

V fa<] in @Ig third person singular (7g RSf&w 24w 7T G0 )

V=1 in fafufds second person singular (faftfeg A& s 581 4@ )

17
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(c) Frame sentences to illustrate the use of any two of the following :

(d)

()

B13-SK

o RTIC KGR &ts (7R 9 et 91
s g

YR |

AU T |

TJavd fraRee |

Give the resultant forms of any fwo of the following :

o [RITRICAr ghI Rrovm el fovat
e + & + g ()
Tl + TR + g (D)
V& + T + g ()

VI + 79 + g (D)

Correct any two of the following :
o1 RTPIC qor wm =

(i) wE: AfEE 379w

(i) | T daw)

(iii) TRR: RN Qe |

(iv) veae fear 9t faen |

18
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1%x2=3



8. Translate into Sanskrit any two of the following : 5x2=10

oo RTSICA! 51 IR ARG S T

(a) This is the cottage where Rama lived with Sita

A% FHRCS AT o Fole I F<e |

(b) Brave men are not afraid of death.

AZA AR oI ©F |

(c) A wise man is respected everywhere.

@ G 00 O T AT

(d) When will your mother come ?

OINR I (Frogl SR ?
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